
３-4章 ２次関数            年  組  番 氏名（             ） 

あ  △OABの面積を求めなさい。 

①  

②  

 

 

③  

④  

 

  

４１．△OABの面積① 

１ 

Aの  座標が ２ 

B（ －３ ，９ ） 

Bの  座標が １ 

A（ －３ ，－１８ ） 

Aの  座標が ３ 

B（ －１ ，１ ） 

Bの  座標が ２ 

A（ －４ ，－４ ） 



３-4章 ２次関数            年  組  番 氏名（             ） 

あ  △OABの面積を求めなさい。 

①  

②  

 

 

③  

④  

 

  

４２．△OABの面積② 

１ 

Bの  座標が －１ 

A（ ５ ，２５ ） 

Bの  座標が ９ 

A（ －３ ，－３ ） 

Aの  座標が －３ 

B（ ２ ，－４ ） 

Aの  座標が －６ 

B（ ３ ，３ ） 



３-4章 ２次関数            年  組  番 氏名（             ） 

あ  △OABの面積を求めなさい。 

①  

②  

 

 

③  

④  

 

  

４３．△OABの面積③ 

１ 

Bの  座標が ６ 

A（ －２ ，２ ） 

Aの  座標が －６ 

B（ ２ ，３ ） 

Aの  座標が －６ 

B（ ３ ，６ ） 

Bの  座標が ６ 

A（ －４ ，－１２ ） 



３-4章 ２次関数            年  組  番 氏名（             ） 

あ  △OABの面積を求めなさい。 

①  

②  

 

 

③  

④ あ 

 

 

 

４４．△OABの面積④ 

１ 

Bの  座標が ３ 

A（ －９ ，－５４ ） 

Aの  座標が －２ 

B（ ３ ，－９ ） 

Bの  座標が ５ 

A（ －１０ ，４０ ） 

Aの  座標が －８ 

B（ ２ ，－２ ） 


